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How do you solve
quadratics by finding the
square root?

Vocabulary:
Square root
Perfect square

What are perfect squares?

Rational number multiplied
by itself.

What is a Quadr‘a'r.ic equu'rion?
An equation aised +0 e 9N
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Before we begin:

To simplify a radical.......
1. We need to know what numbers multiply together
2. Are any of the numbers perfect squares?

No. Then you are simplified already Yes. Then rewrite
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You cannot take the square root of a negative number. So there is no

solution
x? = —4

NO Soluhion
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Steps to solving quadratics by square root:
1. Get x? by itself
2. Take the square root of both sides to get rid of the 2
3. Simplify the radical or take the square root if it is a perfect
square.

*Remember that quadratics usually has two solutions so your answer
should have a + in front of it.

For every v except zero there are two answers

Solve x? = 16
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Step 3: K = ik(
Solve:
2x% =8
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Solve: 25x% = 16
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Solve m? — 18 = —18
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